
Medidas de Ćırculos (B)

Calcule las medidas de cada ćırculo usando las medidas dadas.

r=9.4 mm

radio = 9.4 mm

diámetro =

circunferencia =

área =

C=19.478 cm

radio =

diámetro =

circunferencia = 19.478 cm

área =

A=243.285 mm2

radio =

diámetro =

circunferencia =

área = 243.285 mm2

d=11.6 in

radio =

diámetro = 11.6 in

circunferencia =

área =
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Medidas de Ćırculos (B) Respuestas

Calcule las medidas de cada ćırculo usando las medidas dadas.

r=9.4 mm

radio = 9.4 mm

diámetro = 18.8 mm

circunferencia = 59.062 mm

área = 277.591 mm2

C=19.478 cm

radio = 3.1 cm

diámetro = 6.2 cm

circunferencia = 19.478 cm

área = 30.191 cm2

A=243.285 mm2

radio = 8.8 mm

diámetro = 17.6 mm

circunferencia = 55.292 mm

área = 243.285 mm2

d=11.6 in

radio = 5.8 in

diámetro = 11.6 in

circunferencia = 36.442 in

área = 105.683 in2
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